A500

3000

2500

2000

1800

1000

500

2800

2000

1800

1000

500

2500

2000

1800

1000

500

Run 6086 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 55906
Mean: 15.9405 «/- 00025
St Dhey- 0.5857 =~ 00017

=== Lager OFF ---
Entrie=: 56145
Mean: 3 5687 «- 0.0014
Sid Dhey: 03206 =~ 00070

M_llII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

Run 6086 quartatwize, Diffs)

=== Laser O -—
Entries: 55906
Mean: 07529 +- 0.00X3
Sid Dhey: 0.5336 +~ D006

=== Laser OFF ---
Entries: 5145
Mean: -0.0018 «- 0001 F
Sid Dhey: 04030 = 00072

Run 6086 quartetwise, Asyms)

=== Laser ON -—
Entries: 55906
Mean: 313870 «/- 00941
Sid Dhey: 22,2444 40~ (LUDGES

=== Laser OFF ---
Entries: SE14&
Mean: -0.07%3 «- QLOBET
Sid Dev: 167997 &/~ (L0493

EIIII|IIII|IIII|IIII|IIII|II
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Run 6086 quartetwize, NegHalAcc)/NSamplas0

=== Laser O -—-

Entrie=: 55906
Mean: 16,1876 /- 0U0024
Sid Dhev: 056371 & 00017

=== Lager OFF ---
Entrie=: 56146
Mean: 35706 «- 0.0014
Sid Deyv: 03257 - 00070

M‘-HII|IIII|IIII|IIII|IIII|IIII|IIII|I

Run 6086 quartetwize, Sums0

=== Laser O -—-

Entries: 55906
Mean: 3112871 - 000043
Sid Dev: 10070 &&= 0.00%0

== Laser OFF ---
Entries: SE146
Mean: 7.1392 +/- Q.00
Sid Dev: 05155 &~ 0.0015
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Run 6086 quartetwise, PosHelAccd

— Lasar O —

Enlni: 3508

Masn: 1240 FEAE 4 SRR
22 ez 135383 A1E] «1- JEE125E]

— Lassar OFF —
frlne: 32148
Mann: SESNEE, 100 &0 1EE7.1 1
Sd Ore: S4ZA0EETE] +- T30E 1088

[ W | L =10

Run GOBE quartatwise, Diffsd

— Lasar O —
Cnlbni: 3308
Maan: DHE 24227 «- 310134818
S (O TIETT A5 « TS 025

— L OFF —
tnlnea: 35148
Maan: 571408 « - 23FATE
= Dwre: BIZT4EERET +~ 1TFLIE1Z

Run 6086 quartetwise, Asyms4

=== Laser ON -—
Entries: 55906
Mean: 31.9014 «/- 00714
Sid Deyv: 168024 +/- LOG05

=== Laser OFF ---
Entries: SE14&
Mean: -0.0770 «/- 00342
Sid Drey: B.2446 - 00242

2500

000

2500

2000

15010

1000

500

S0

0

20010

1000

Run 6086 quartetwise, NegHalAccd

— Ly 0% —

Erlnea: 33008

Magn: SIETHOL AT+ E24RETI
225 Dwre: WATTITI 2T &0 419350

— Lussar OFF —
trlnea: 32148
Main: 32802300 SE&T «- 1247222
S (Oire: S42A30 EIET +- TIE1E15

PR I T T . N B H A O

Run 6086 quartetwize, Sumsd

— Ly 0% —
Crlnea: 33908
Maan: SFESIELEINT - 117 0LEM
Sd Drw: 27ESTSE ARDS =i d2T4.THI

— Lumar OFF —
trlnea: 33148
Miaan: JITHIED 04T « - MELIED
S0 [Dnire: BATTERTMET +- TAFT.BA5D0
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Run 6086 quartetwise, Asyms LISbg1

=== Laser O -—
Entrie=: 55906
Mean: 00006 + - 0.0024
St Dhey- 0.5644 4~ 00007

=== Lager OFF ---
Entrie=: 56145
Mean: -0.0016 «/- 0002T
Sid Dhey: 0L5647T - 00017

Run G086 quartetwize Asyms DSbg1

=== Laser O -—

Entries: 55906
Mean: -0.0010 «/- 0000
Sid Dey: 0L07AE - D.0O002

=== Laser OFF ---
Entries: 5145
Mean: -0.0006 & 0L000E
Sid Dey: 00741 4~ 00002

Run 6086 quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Entries: 55906
Mean: 00028 +- 0.0010
Sid Dey: 0.X3EE - 00007

=== Laser OFF ---
Entries: SE14&
Mean: 0.0003 +- 0.0011
Sid Dey: 02676 +~ 00008
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Run 6086 quartetwize, Asyms USbg2

=== Laser O -—-
Entrie=: 55906
Mean: 00007F «/- 0.001E
Sid Dhey: 03705 & 0.0071

=== Lager OFF ---
Entrie=: 56146
Mean: 00026 +- Q0.0016
Sid Dev: 037TE & 0,001

Rt

] a

Run 6086 quartetwize Asyms DShg2

. ﬂﬂ-ﬂﬂr‘—.._. ” :
s 1

=== Laser O -—-

Entries: 55906
Mean: -0.03012 «- 00003
Sid Dhev: L0697 & 00002

== Laser OFF ---
Entries: SE146
Mean: -0.0009 «- 00003
Sid Dhev: 0L0680 - 00002

Run 6086 quartetwise, Asyms Vert Finger

0.6

=== Laser O -—-
Enlries: 55906
Mean: 00023 «/- 0.00045
Sid Dev: 0.2197 & 00007

== Laser OFF ---
Enlries: SE146
Mean: -0.0012 «- 00010
Sid Dev: 02528 - 0.0007

1 1.5
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Run BOBE quartetwize, posHE vs time
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Run BOBE guartetwize, negHO vs time

16

14

12

e

_ﬂlll-ﬂ[lllllI|III|IIL|_I_LI.|MII

lfii:lll I

. c .

;
. l -

e
oo Ay My

g

=

20 4 &l &y 100 130 140 180 180

Run BOBE guartetwize, summd vs time
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Run 6086 quartetwise, posH4 vs time
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Run BOBE guartetwize, negH4 vs time
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Run 6086 quartetwise, posH4 vs time
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Run BOBE quartetwize, USbgl ve time
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Run BOBE gquartetwize, USbg2 ve time
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